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有错必纠
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诱导公式纠错题
一．选择题
1．计算cos（﹣330°）＝（　　）
A．[image: image60.png]
B．[image: image2.png]



C．[image: image3.png]



D．[image: image4.png]



2．已知[image: image5.png]


，则[image: image6.png]T
cos(35--@)

e comg
)



＝（　　）
A．﹣[image: image7.png]



B．﹣[image: image8.png]



C．[image: image9.png]



D．[image: image10.png]



3．tan585°＝（　　）
A．﹣[image: image11.png]



B．﹣1
C．1
D．[image: image12.png]



4．已知[image: image13.png]T qy=3
cos(-a) =5



，则[image: image14.png]


＝（　　）
A．[image: image15.png]



B．[image: image16.png]



C．[image: image17.png]



D．[image: image18.png]



5．sin2021°可化简为（　　）
A．sin41°
B．﹣sin41°
C．cos41°
D．﹣cos41°
6．tan195°+2[image: image19.png]


cos285°＝（　　）
A．[image: image20.png]



B．1
C．[image: image21.png]



D．[image: image22.png]



7．已知[image: image23.png]


，则[image: image24.png]T
sin( @ +200) vcos (0 )



＝（　　）
A．[image: image25.png]



B．[image: image26.png]



C．0
D．[image: image27.png]



8．已知3sin（[image: image28.png]


﹣α）﹣sin（π+α）＝﹣[image: image29.png]


，则cosα﹣sinα的取值可以为（　　）
A．[image: image30.png]



B．[image: image31.png]



C．[image: image32.png]



D．[image: image33.png]



9．下列与sinθ的值不相等的是（　　）
A．sin（π+θ）
B．sin（[image: image34.png]


）
C．cos（[image: image35.png]


）
D．cos（[image: image36.png]


+θ）
10．下列选项中正确的是（　　）
A．sin（α﹣3π）＝sinα
B．[image: image37.png]





C．tan（﹣α﹣π）＝﹣tanα
D．[image: image38.png]sin(270-a)=cosa




三．填空题
11．已知sinα+cosα＝﹣[image: image39.png]


，则tan（α+[image: image40.png]


）+[image: image41.png]


的值为　   　．
12．已知sinα＝[image: image42.png]


，则cos（[image: image43.png]2= ia



）＝　               　．
13．已知f（θ）＝[image: image44.png]2c0578 +si n’(271- 8 ) +ein(G+0)-3

942c052(TT+8 ) +cos (-8 )



，则f（[image: image45.png]


）的值为　               　．
四．解答题（共6小题）
14．已知α是锐角，且f（α）＝[image: image46.png]sin(7 -0 Jcos(27 - Jtan (-0 -T7)
Tan (T +0 ) sin(-TT-a)



．
（1）化简f（α）；
（2）若cos（α﹣[image: image47.png]


π）＝﹣[image: image48.png]


，求f（α）的值．
15．（Ⅰ）已知f（α）＝[image: image49.png]sin(Z"T—Cl)ch(%*a)

T
cus(’7+a)ﬁan(7‘f+a)



，求f（[image: image50.png]


）的值；
（Ⅱ）已知cos（75°+α）＝[image: image51.png]


，求sin（α﹣15°）+cos（105°﹣α）的值．
16．已知[image: image52.png]T

sin(B7o+a) cos O rtan(TT-0)

flaye—2t——
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．
（1）求[image: image53.png]


的值；
（2）若[image: image54.png]m n,.1
ae (o, 7), tan(dT)?



，求f（α）的值．
17．已知[image: image55.png]sin® +cos@
s BTy, )




．
（1）求tanα的值；
（2）求[image: image56.png]2sin(TM+0 )rcos(TT -0 ) -cos (TT+0)

x
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的值．
18．已知，f（α）＝[image: image57.png]can(n—a)cus(zn—a)sin(%m)

cos(-0-T)



．
（1）化简f（α）；
（2）若[image: image58.png]g )



＝﹣[image: image59.png]


，求tanα．
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